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1. Fitting entire GlueX phase 1 data (adding fall 2018) for four y polarization plane angles
relative to horizontal (0, 45, 90, 135°) + amorphous data using loop statement in AmpTools

2. Fitintensity with a waveset that includes S, D waves, where we include only certain M and ¢
values for D waves that are expected to have nonzero contribution based on Vincents VMD
model (Vector Meson Dominance):
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Photoproduction of as(1320) — nx°
Vincent Mathieu

3. Invariant mass bin size of 75 MeV/c?, momentum transfer bin size of 0.6 (GeV/c)? g

4. Hopefully, the increased statistics and decreased number of fit parameters will allow to also
calculate uncertainties from bootstrapping method

Plot acceptance uncorrected results



Fit with So, PO,ll DO,l,Z Ezil

Acceptance uncorrected

SOpl SOmi

400 400

s

350(—

300+ 300

250+ 250

200+ 200

150+ 150

100 100

:\\\\i\\\\i\\\\i\\\\i\\\\i\\\\i\\\\i\\\\




Fit with So, PO,ll DO,l,Z Ezil

Acceptance uncorrected
DOpl D1p D2pl

400

350

300

250

200

150

100

400 400

IR N

300

300

250

250

SEEEE :
wimamnAui

Dmitmi DOmi
0 40—

200

[ 150

1 100

50

L L L L L L L L LB

:H\\g\\\\g\\\\g\\\\g\\Hg\\\\g\\\\g\\\\

ol b by e b b b i
12 13 14 15 16 17 18 19 2

o
—
fe—
o
Fe—— @

[N
w
~
o
>
~
(o]
«©
~
—
-
N
[N
—
w
-
~
3]
-
>
\,
-
=3
©
N

All waves

RO N S s e 1

200

B0 0o
50 -

L L L L B

400

R Nl it

200

| T L L LN B B

, l { E l { { \:\i\\\\i\\\\i\\\\i\ \\i\\\\i\\ \i\ \\i\\\\i\\\\i\\ B
0 Il |1\ 11 \1.‘2\ 11 \1 I§3\ Il \1 f4\ I Il \1.‘51\ 11 \1 f6\ Il \1 .§7\ Il \1f8\ 11 \1 fg\ 11 \2| 1| O || I L1l i 111l i 111l i 111 111l i 111l i 111l i 111l i 11 1 Il I 11 0 1'1 1I2 1.3 1.4 1I5 1_6 1I7 1I8 1I9 2 [ ) L1l f L1l .i 111l f L1l i L1l ? L1l 'i L1l f L1l f L1l



Moments calculated using fitted partial waves

0.1<t<0.7 (GeV/c)?
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Uncertainties from bootstrapping
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Moments calculated using fitted partial waves

0.1<t<0.7 (GeV/c)?
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0.1<t<0.7
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Moments calculated using fitted partial waves
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Moments calculated using fitted partial waves
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